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PART -1: GENERAL ENGLISH

Read the following sentences and answer the questions that follow. Choose the right answer and

mark it.
1. Itold you times not to come late. -
(1) anthousand (2) athousand
(3) thethousand (4) thousand
2. She has been absent three days.
(1) for (2) since
(3) from (4) to

3. Sit quietly,
(1) Canyou?
(3) Willyou?

(2) Can’tyou?
(4) Won’tyou?

4. Raviruns fast.

(1) Noun (2) Pronoun

(3) Verb (4) Adverb
5.  Let the wall be

(1) build (2) built

(3) builded

(4) building

6. Identify the number of syllables in the word ‘right’.

(1) mono (2) di
(3) tri (4) poly
7.  It’s important to on time.
(1) Show off (2) Showup
(3) Show of (4) Show
8.  Find the odd one out.
(1) mood (2) book
(3) look (4) took
V-General English 3
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9.  Find the silent letter in the word ‘muscle’.

(1) s (2) e

(3) ¢ (4) u
10. Which letter is stressed in the word “ability’.

(1) a (2) t

(3) 1 4) b

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer to the
questions given after.

Light enters the eye by refracting or bending, as it passes through the cornea. Light rays
then pass through the opening into the eye known as the pupil. The pupil size is controlled by a
muscle known as the iris. The pupil becomes smaller when in bright area and larger in the dark
area. After leaving the pupil, light rays are refracted once again as they pass through the convex
lens of eye. Light rays continue travelling through a jelly like material called vitreous humor. An
upside down image is formed on the back of the eye known as the retina. Cone cells on the retina

interpret the colour of the image and rod cells interpret the black and white colours. Lastly the
image is taken to the brain for the image to be seen correctly.

11. Light enters the eye through the

(1) pupil (2) cornea
(3) muscle (4) iris
12.  Which controls the size of the pupil?
(1) iris (2) cornea
(3) eye (4) light
13.  When does the pupil become smaller?
(1) largearea (2) small area
(3) darkarea (4) brightarea

14. Name the organ that light passes through from cornea.

(1) cone (2)

iris
(3) pupil (4) convex lens
I5. Anupside down image formon e (PR
(1) convex lens (2) cone cells
(3) rod cells (4)  retina
V-General English 4 ‘

C} Scanned with OKEN Scanner



16.

Jelly-like material in eye called the
(1) Vitreous humor

(2) Cone cells

(3) Retina (4) Iris
17.  Antonym of ‘Concave’
(I) cornea (2) convex
(3) cone (4) lens
18. interpret the black and white colours.
(1) Rod cells (2) Cone cells
(3) Pupil (4) Retina
19. What is the noun form of ‘refracting’.
(1) Refracted (2) Refraction
(3) Refract (4) Refractory
20. Supply the missing letter to the word ‘Vitre __s’.
(1) au (2) eu
(3) ou 4) 1
21. Choose the wrongly spelt word.
(1) elaborate (2) elocution
(3) Aloquent (4) eternal
22. Choose the parts of speech of the word ‘Pageant’.
(1) noun (2) adjective
(3) adverb (4) verb
23. Cartography means writing of
(1) poems (2) cartoons
(3) maps (4) novels
24. Choose the right meaningful word of the phrase ‘of'a good sound’.

(1) symphony

(3) magnanimous

V-General English
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25. ‘Mark Twain’ is the pen name of
(1) Samuel Langhorne Clemens (2) Samuel Taylor
(3) Keats (4) O.Henry

26. Whois the author of the novel ‘The Adventures of Tom Sawyer’?
(1) William Wordsworth (2) Henry
(3) Mark Twain (4) Sarojini Naidu

27. Choose the tense of the following sentence.
‘He’ll give you money when you come next Saturday.
(1) Simple present (2) Simple past
(3) Simple future (4) Present perfect

28. Identify the correct interrogative sentence.
(1) HasIpassed the test? (2) Have I passed the test?
(3) ThetesthasIpassed? (4) Thetesthavel passed?

29. Choose the correct sentence.
(1) Iambelievingyou (2) TIwasbelieving you
(3) Ibelieveyou (4) Ibelieveinyou

30. Romantic movement in English literature is started by
(1) William Wordsworth (2) Henry Wordsworth
(3) Aldous Huxley (4) N.R.Narayana Murthy

V-General English 6
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FART -11: ECONOMICS

31. Thelaw of Equi-Marginal Utility is based on
(1) Ordinal Utility (2) Form Utility
(3) Service Utility (4) Cardinal Utility
dArFod oo 8&)':.2 BFEHLIH?
(1) &3S PHARraso (2) &d PRrass0
(3) N PRr2ssn (4) 58S HRradS0
32.  The functional relationship between the changes in income and the quantity demanded is
known as
(1) Income Demand (2) Price Demand
(3) Cross Demand (4) Elastic Demand
AUV HT RO BWTSTFOL T8 ESoffen 35 39H88r A8 Sogsg ) Sox067Q)
3908
(1) oz ds5ro& (2) &8 &3r0&
(3) =egods dsro& (4) og8% dsrob
33. The law of variable proportions operates in
(1) Short period (2) Longperiod
(3) Very long period (4) Specified period
ey 578 GEBHw0 Dy H B308?
(1) Jgoy sreos?® (2) 8¢ svos®
3) @é’éégj 50065 (4) ©8g8 scwocst
34. Who introduced the concept of Quasi-Rent?
(1) J.S.Mill (2) Alfred Marshall
(3) Adam Smith (4) DavidRicardo
EY8D> el dFoer) HIF DES T
(1) J.S. & (2) o5& S-S
(3) i S (4) BJ& os°g
35.  Under perfect competition the position of MR curve to the axis is
(1) Vertical (2) Parallel
(3) Moving upward (4) Horizontal
Sodrg P8BS MR Sgo & 8od dFom Hoddid.
(1) JenHm (2) SSrodsSom
(3) né&Sdo (4) ogorr
V-Economics y;
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36. The law which states that the response of output if all inputs are increased in a fixed
proportion is known as

(1) Law ofsupply (2) Law ofdemand

(3) Law of variable proportions (4) Law of returns to scale

Q drgo ©B5°do &E)8 5765700l el wdHFdos® 0AID[yLo, SETH wS\G8
SoE5HS) éoaaoz:‘&)oz B0YeHoh? ‘

(1) dZo0 dr@o (2) &5ro& drEo
() By 59 &8 Heoswo (4) 86558 ©Hb80d PEHe e JrESn

37. The economies which are open to a single firm are known as

(1) Internal Economies (2) External Economies
(3) Technical Economies (4) Managerial Economies
28 D0 &3 &&)B JBSred) PODEINE HAS WO 5008 E?
(1) ©odds waren (2) 20rgd eoren

(3) os®E wmen (4) d&gren woren

38. The supply function is présented in which of the following form?
DPon JrE ) & (§od Do B0NIY).

(1) Qx=f(P,,P,,F,T,E) (2) Qx=f(Py,Py,F,T,G)
(3) Qx=f(P4,P,,F,0,G) (4) Qx=f(P4,P,,S,T,G)
39.  Who wrote the famous book “The General Theory of Employment, Interest and Money”?
(1) J.M.Keynes (2) Alfred Marshall .
(3) Robbins (4) PaulA. Samuelson 4
Te&igher, 5§ $080%n (G550 B, DSy RTTOSHN” @ QISR 80D Sg8?
(1) IMEJy (2) ©SRE& Sr8S '
(3) oAz (4) S Adsnsss

40. Monopolist charging different prices for different units of Same product is known as
(1) Technical Discrimination (2) Personal Discrimination
(3) Use Discrimination (4)  Price Discrimination

8 cSogoest 0380578, DAE IIBTRTErerso DA S V3T DB5085°60?

(1) &od88 258 (2) Sg8is asy
(3) 2@ DSE (4) &5 a3g
V-Economics 8 V-
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41.

The change in quantity demanded of one good in response to the change in the price of the
related good is known as

(1) Crossdemand (2) Incomedemand

(3) Pricedemand (4) Demand function

& 808 >8S* B @EgSomodd, s SHe $ES° ST Srdye 0 I ddrosst
5Ty Srdnd 8OaHBE08?

(1) =regods ddrob (2) osmoH &drok

(3) &8 &3r0b (4) &3570& J&oen

42.

Transformation of inputs into outputs is known as

(1) Distribution (2) Exchange
(3) Consumption (4) Production
GENEEODH AT S0y DI DSo0trEd?

(1) Hodes (2) Sr88S50
3) Jd&@riK0 (4) &8

43.

Dividing a given activity among the workers is known as

(1) Specialisation (2) Capital formation

(3) Social capital (4) Division of labour
28 HIS® 58 Hrodn DEBATR) dH00trd?

(1) ©®8g888emo (2) Soredd dAE80
(3) o Swreodso (4) #S0 de¥=S

44,

The income which is left with the individual after repayment of all the direct taxes is
known as

(1) Per capita income

(2) Personal income

(3) Gross income

(4) Disposable income

Sdnen BOoDH BoSorr $g8 BKE AOBNE) BTPAST dSootrs?
(1) 8038 uorciHdwn

(2) Sg8rid esorosHdn

(3) dro socHin

(4) HIE IABTAOBBI eGS0

¥4
o
o

-
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45. Who said, “Economics is the study of mankind in the ordinary business of life™?
(1) Adam Smith (2) Alfred Marshall
(3) J.S.Mill (4) David Ricardo
“BEolS sEgEerPrSt SrdS HIES KH80d wrrgairao 306 oubad ofr@dn” ed
DAY
(1) wdD s (2) sSEE SrdS
3) JS. S (4) @& 65°G;
46. Who wrote the book “An Essay on the Nature and Significance of Economic Science”.
(1) A.C.Pigou (2) EdwinCannon
(3) Lionel Robbins (4) Jacob Viner
“e—aga‘@ QeerSdn |PSnggdn Tgr)” @HH8oDS Jg§
(1) A.C.HA°a5» (2) Q8IS B
(3) ORFIS Td (4) =88 336
47. Want satisfying power of a commodity is known as
(1) Satisfaction (2) Utility
(3) Consumption (4) Money
33 e o 5080 &) BoTr)
(1) &y (2) PBrasdn
(3) DI&D>Ho (4) 8350
48. Law of diminishing marginal utility is known as
(1) H.H. Gossen's first law (2) Marshall's first law
(3) J.R.Hick's first law (4) K.E.Boniding's first law
§e5'arod DATES Do HOR0E W
(1) HHmS @68 Jr@dn (2) 085S DES Jdr@hn
(3) JR. 7§ D& SrES0 (4) KE. 50808 308 S (&b
49 Indifference curves are always to the origin.
(1) Convex (2) Concave
(3) Tangent (4) Positive
SRS SiE Ope JQIPE
(1) Hooersdorm ' (2) dHérsEom
(3) HIHroSESE0 (4) S0
V-Economics 10
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50. In case of relatively elastic demand the numeric value of elasticity of demand is

Fogor A 83rob& DAcHoS* ASros Bl RETIES Qg Joarg Dewd

(1) =1 2) =1
(3) >1 4) <l
51. In case of necessaries the elasticity of demand will be
(1) Unitary Elastic (2) Elastic
(3) Inelastic (4) Perfectly Elastic
VEEIV6 SJHo DRooS* ASros FgE'EE0 Jor Hotnosd?
(1) J8ed og8esso (2) og8usn
(3) wargsusmw (4) JoFrg ag8iEtm
52.  When was the planning commission replaced into NITI Ayog?
(1) 1stJanuary 2013 (2) 1stJanuary 2012
(3) 1stJanuary 2015 (4) 1stJanuary 2014
D D03E)B50 Her € HoPodw, D& WRFAM S8y BoHSE?
(1) =358 1, 2013 (2) =358 1, 2012
(3) =338 1, 2015 (4) =358 1,2014
53. Whatis the example of an Agro Based Industry?
(1) Sugar Industry (2) Iron and Steel Industry
(3) Mineral based Industry (4) Coal Industry
& 808 TES® SgIFH B8 HOFE TS,
(1) DoSerd HOFES (2) @%5H 0N &&y, HOFD
(3) Iz JB/FS (4) o6 HOES
54. Mahatma Gandhi National Rural Employment Guarantee Scheme was launched from
(1) 2nd October 2008 (2) 2nd QOctober2001
(3) 2nd Qctober 2005 (4) 2nd QOctober 2009
ST d)mod 0L (re G I DPEo IR FEoDoEy?
(1) o6 2,2008 (2) oF=62,2001
(3) o&=6 2, 2005 (4) g6 2,2009
55.  Which country was the first to introduce the concept of Micro Finance?
(1) Bangladesh (2) India
(3) Japan (4) Srilanka
DE D) HIFTDES o3 o
(3) 2 : (4) Boo¥
V-Economics 11
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56. National Income is estimated by

(1) RBI (2) CSO

(3) NITIAyog (4) Finance Commission
&P eEroDdINN Wosd Icna

(1) sbdo (2) 5.098.5

(3) Q8 sI>rh (4) g8 Sodo

57. One of the characteristics of a developing country is

(1) Better quality of life

(2) Low level of unemployment

(3) Abundance of capital and technology
(4) Predominance of agriculture

VHJ)E VoK) Bfo BwY), 28 oo
(1) Seogds 23S Hdrmo

(2) odgoy A& KB

(3) JBYRSS Soredo, Fo88E HBepdo
(4) SgSrad (@Fordgsen

58. Sarva Shiksha Abhiyan was introduced in the year
265 3 VPSS 2 VoSEBoS’ DIFETE?
(1) 2001-02 (2) 2002-03
(3) 2003-04 (4) 2004-05

59. The second five year plan gave importance to

(1) Industrial Sector (2) Service Sector
(3) Agriculture Sector (4) Private Sector
Bols HowSY (e~ Q o8 (FErIgE Quyd?

(1) HoFS w80 (2) NS Sorrs
(3) Sgdarasdomrs (4) D38 Sorrns

60. Inwhich year was the Government Nationalized 14 Commercial Banks?

D oS EENS* Depdgo 14 ardug ergotods wrdobo Bhoa?

(1) 1948 (2) 1969
(3) 1984 (4) 2014
V-Economics 12
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61.

Calculate the Range of the following data:

20, 25, 29, 30, 35, 39, 41, 48, 51, 60 and 70.

& 08 derodos® Tgad HedoSod

20, 25, 29, 30, 35, 39, 41, 48, 51, 60 3080350 70.

(1) 50 @ 70
(3) 20 (4) 90
62. The contribution of Andhra Pradesh to the country's marine export is nearly
Q¥ JJ0E BB WoSHET dTEEo TETYM
(1) 40% (2) 50%
3) 30% (4) 60%
63. Which district has the highest irrigated land to the tune of 4.38 lakh hectors
(1) WestGodavari (2) EastGodavari
(3) Guntur (4) Kadapa
& §08 FES* J BT VEEHE FHIS Frd Tod) 4.38 vfe IEoren EOA Hod?
(1) 3 Aose (2) &r&y Forsd
(3) &otardd (4) €63
64. 'A flow of consumption without reducing the capital' is called
(1) Ecological Balance (2) Eco-System
(3) Conservation (4) Sustainability
Brodad) SHIS0E NBrE PITR) FEFABER) D500rd?
(1) Jogdden dSréreogsn (2) e:s:ﬁdeaég:ﬁ;g
(3) $8880sdo (4) RESGH0
65. The process of integrating the domestic economy with the world cconomy is called
(1) Liberalization (2) Privatization
(3) Globalization (4) Integration
O¥ espg Hg5/0, BDoS BOE HgHYE” VRVOTISD W HIEAHN JBodrds?
(1) 269¢8e0 (2) Cgﬁ&édm
(3) DsodEsem (4) 98580
V-Economics 13
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66. Inwhich year the industrial estates were established?
FOEME T D vosdEest Doywe BHTE?
(1) 1948 (2) 1951
(3) 1961 4) 1955
67. Inwhich year the Rythu Bazars were introduced?
B werbod PIF S JoSE)ED0.
(1) 1999 (2) 2005
(3) 1991 (4) 2014
68. Who is the father of Green Revolution?
(1) Dr.M.S. Swamynathan (2) Prof. Norman Borlog
(3) B.F.John (4) Dr.Kurien
T8 RS DerHoTodd
(1) Dr. M.S. 365 (2) @608 TGh
(3) B.Fers (4) &.5000I
69. What is the variety and variability among living organism called?
(1) Eco-system (2) Ecology
(3) Biodiversity (4) Biological system
o’ IDES0, SRLERISIEY DDF) Koo ©oid § DB300e7E?
(1) w560 5558 (2) s
(3) 253D8gS0 (4) 233 dpddn
70. ' The natural resources which can be used permanently without depletion are called
(1) Conventional Resources (2) Renewable Resources
(3) Non-Renewable Resources (4) Environmental Resources
Yo IDBTAODS Jerold SKKEe BEoT e Hod SISO D5oodrdd?
(1) oo SSded (2) YSoHBRSg SSSe
(3) HSoSBo 5 S88en (4) dorgsden Soen
V-Economics 14
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71.

Who was the founder of Vedic Culture?

(1) Dravid (2) Arya

(3) Harappan (4) None of these

3¢ 208 Ao T DIE?

(1) ke (2) sdgen

(3) IRz (4) 258 A58 5
72. What are the Epics?

(1) Vedas (2) Puranas

(3) Ramayanaand Mahabharatham (4) Upaveds

& 808 FAS' AT AJ?

(1) Sz (2) Poeren

(3) odrcde, Sodtrdares (4) 33T

73.

The four varnas are mentioned for the first time in the

(1) Prithvi Sukta (2)
(3) Taittiriya Samhita (4)
SH8 STo K80D Tndl BIS® Bhyw&os.

(1) Hpg S8 (2)
(3) Bsb6c% DS (4)

Purusa Sukta
Vajasaneyi Samhita

74.

Who was the founder of Jainism?
(1) Vardhamana Mahavira

5.

V-History

(2) Rishabhanatha
(3) Parsvanatha (4) Gautama
BI0E500 FHoI T 2I8?
(1) 3g5eS S5 (2) 0dFE
(3) FETE (4) TS
In which year Alexander under look the conquest of India?
(1) 326 BC (2) 323 BC
(3) 322BC (4) 325BC
Q) B0S5&B0S* wBITods rEdBion SoBBM?
(1) &.5r.326 (2) &.5r.323
(3) $.%r.322 (4) &.%r.325
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76.  Alexander died at

(1) Lumbini (2) Greek (3) Babylon (4)  Jhelum
©BTods O PV BAD@E?
(1) 00D 2) B8 (3) wDS'S () =Ba
77.  Alexander defeated whom in the war of Jhelum?
(1) Chandragupta Maurya (2) Ashoka
(3) Porus (4) Seleukos Nikator
©8rodd Loo oﬁwgoe‘j“ Q350 LA0B?
(1) SoEmy ST (2) w&d
(3) 8D (4) ?oe»géfé J8LE
78.  Who was the founder of the Mauryan dynasty?
(1) Chanakya (2) Chandragupta Maurya
(3) Seleukos Nikator (4) Ashoka
T8y F@regdodo FRoDST @
(1) oefs | Q) Sk ST
(3) Pe0g8d Jswb (4) 0888
79. Which was the religious faith adopted by Menander?
(1) Hindu (2) Jaina
(3) Buddhism (4) Islam
DoToBE D Hod508 VgEBoRK?
(1) oy Sodo (2) BS Sodo
(3) &G 2do (4) adro Hdo
80. Who was the court poet of Kaniska?
(1) Vasumitra (2) Kalidasa
(3) Hala (4) Bana
QA0 Bk, BPS ED IBE?
(1) SdoDdo@ocd (2) s @
(3) o (4) ere
81. Which is the earlist capital of Andhra Satavahanas? wp————
(1) Amaravathi (2)  Srikakulam
(3) Paithan (4)  Bhodan

SoTET IO O TuFd ID?
(1) wdHoId (2) G5 soto
(3) oW (4) s

e

V-History 16
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82. Who had the title ‘Indian Nepoleon'?

(1) Gautamiputra Satakami (2) Kanishka
(3) Chandragupta-1 (4) Samudragupta
R0B0HD IO WIS 38 HE%H?
(1) FTELYFTS89 (2) 8y
(3) SSE8 SoEroyo (4) J30BrHs
83.  Who founded University of Nalanda?
(1) Kumaragupta (2) Harshavardhana
(3) Pulakesin-1II (4) Kanishka
NoTelny QDT g a%50080 @;2305):6 F8?
(1) SeSesH s (2) FE5g80%
(3) Bo&SHeds (4) &)
84.  Who was the founder of the Delhi Sultanate?
(1) Qutubuddin Aiabak (2) Iltutmish
(3) Jalaluddin Firoz Khilji (4) Sultana Raziya
39 IS FHOAS T IHE?
(1) B0&H208S 2§ (2) adendR
(3) =zl DEE P (4) oI =8
85. Who was the author of ‘Shahnama’? :
(1) Amir Khusru (2) Firaduasi
(3) Marcopolo (4) Barani
‘T’ O ED0DS TE ISE?
(1) @8 o (2) 2632
(3) Sroy st (4) 2o
86. Alai Darwaza was constructed by
(1) Timur (2) Bahalal Lodi
(3) Allauddin Khilji (4) Balban

©8 dorerdd A0POITE
(1) 8%r& (2) adod '8
(3) worads HY

(4) woa(‘d

V-History 17
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87. The famous port of the Kakatiya Kingdom was

(1) Machilipatham (2) Gantasala
(3) Motupalli (4) Barucutcha
S PHEd BHdLeo
(1) Soddd&)o (2) @oobLTo
(3) e (4) =288
88. Srinatha had the title
(1) AndhraBhoja (2) KaviSarvabhouma
(3) Kavi Vatsala (4) KaviRaja
1BIG0o08 Ko DK
(1) wos’a (2) 82 @65?3‘53
(3) §2 S (4) gdoez
89. Who put an end to the Delhi Sultanate?
(1) Akbar _ (2) Babar
(3) Shersha (4) Shivaji
39 eSS $30ITF>S Fdo_
(1) o858 (2) =06
(3) "aoy (4) 372
90. Who was the brave women ruler of Kakatiya dynasty?
(1) Rudramadevi (2) Lakshmibai
(3) Rajiya (4) Devaladevi
58805 FETraegod’ FY) NIt FORTTOY JS5E?
(1) SoE5oED (2) o
(3) &=zosr (4) Bl0dd
91. was the founder of Mughal Dynasty.
(1) Shajahan (2) Akbar
(3) Babar (4) Humayun
3RS FSragind FOOOITEH
(1) &ads (2) &6
(3) wrwb (4) Svdoctars
V-History 18
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92. Shershah Maussolium was situated at
(1) Sasaram (2) Delhi (3) Agra (4) Panipat
Roy d5rd JN) ©ddo_
(1) o (2) &% (3) esyf (4) 58
93. The new religion founded by Akbar was
(1) Sufi (2) Sikh
(3) Din-i-illahi (4) Jain
OH5 F0DS SordS Sodo v
(1) &5 2) 28y
3) &88-n-werdr (4) as
94. Humayun means
(1) Tiger (2) Fortunate
(3) Great (4) Conquerer
TuSors wod
(1) 28 (2) wsyiSosdd
(3) &9 (4) o3
95. Ramacharitamanas was written by
(1) Ramadas (2) Surdas
(3) Tulsidas (4) Meerabai
T NBBSITrIRV VoS &
(1) oo (2) Jbor
(3) &eododo (4 Doorerowm
96. TajMahal was constructedby
(1) Babar (2) Akbar
(3) Jahangir (4) Shajahan
FTESHTSES EPoDITE
(1) erab (2) w86
(3) =&ohb (4) =25
97. Who founded the Sikh religion?
(1) Gurunanak (2) Shivaji
(3) Arun (4) Akbar
LS RS T c’?p"i’)é\JC'sJ R
(1) HKboasE (2) et
(3) &S (4) ©gs
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98.

Who was the hero of the Arcot?
(1) Warren Hastings

(3) Bentick

075 DA ISEH?

() =068 TQofy)

(2) Comwallis

1(

(4) Robert Clive

(2) $EITOR

(3) Bo&oh (4) o®g 3>
99. Who abolished the Double Government in Bengal? 10

(1) Warren Hastings (2) Comwallis

(3) Bentick (4) Wellesely

BomreSes* ¢Sgocss @’)2539550?63 dcﬁg BVSTE A58?

(1) &88 TRofhy (2) 55879

(3) Bo&E (4) 3o 0
100. Who was the first Governor General of India?

(1) Warren Hastings (2) Lord Macaulay

(3) William Bentick (4) Wellesely

S0LINGEE 78S K6 2865 J5K?

(1) T8 SJohy (2) or§ D53 -

(3) DOcS0 Boe3E (4) I 40
101. The founder of Sikh empire was

(1) Ranjit Singh (2) RanaRatan Singh

(3) Gurunanak (4) JaiSingh

D8, r|doresg asé&céo___

(1) &ozd doh (2) orer 888 2ohR

(3) K&aSE (4) B 2o0R
102. The founder of Prathana Samaj was

(1) Atmaram Panduranga (2) Veeresalingam

(3) Annie Besant (4) RajaRam Mohan Roy ‘

g ddrasnd FHoDSTE ‘

(1) oo ool (2) H3%00K0 (

(3) @D 4) o= oS 3rS5S oo (
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103. “Swaraj is my birth right, and I will have it.” Who said this?

(1) Gandhi (2) Prakasam
(3) Tilak (4) Vallabhbhai Patel
"Bgorago 7 adrsy), o°R) Bo08&He™” OHB IS5K?
(1) mod (2) Bsdo
(3) 8§ (4) Sewrdd 8BS
104. “The History of India National Congress’ was written by
(1) Pattabhi Sitaramaih (2) GovindaRanade
(3) Aravinda Ghosh (4) Sarojini Naidu
‘B 38 P R080HS IASS FofS K EVoASTE
(1) Sepd deosocsyg (2) o0& Seod
(3) ©8d08 5% (4) 36823 Fasndkd
105. Banaras Hindu University was founded by
(1) Dadabhai Naoroji (2) Madan Mohan Malaviya
(3) Anandacharyulu (4) Vivekananda
BITERD ol SN THoDS &
(1) omerdd F&'= (2) HE8S IrdS SreodobH
(3) wlomrarddgen (4) I357H0d
106. Match the following.
A B
1)  Tiger of Mysore a) Ranjit Singh
i1) Lion of Punjab b) LajapatRai
ii1) Company Akbar c) Prakasam
1v) AndhraKesari d) Wellesley
v)  Punjab Kesari e) TippuSultan
B0B T3 2EBEHS%.
A B
) Dodrd 9O a) Goad Doh
il) Dozrd oo b) o3& oo
i) HonQd B ©fd c) dsdo
V) o $58 d) Sed
V)  Doerd BI0 e) &Iy Ders
(1) (i)-e, (ii)-a, (iii)-d, (iv)-c, (v)-b (2) (i)-a, (ii)-e, (iii)-d, (iv)-c, (v)-b
(3) (i)-e, (ii)-a, (iii)-d, (iv)-b, (v)-c (4) (i)-a, (ii)-e, (iii)-c, (iv)-b, (v)-d
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107. The policy of “Doctrine of Laspy” was introducedby

(1) Dalhousie (2) Canning
(3) Wellesely (4) Comwallies
“oragdoEsin” Doa) WIFpPSrd_

(1) s (2) sQof
(3) 3y (4) 565 708

108. The Hijri era started with the first year falling in
TR QO IEBS Qoo

(1) 625AD ' (2) 624AD
(3) 622AD (4) 620AD
109. The book “Spirit of Laws” was written by
(1) Mussolini (2) Karl Marx
(3) Montesque (4) Voltair
"B 8D oF” ik Ko SDDSTH_
(1) 302999 (2) 588y
(3) Srosdmg 4) .36
110. Bgs:c:épitalwaswﬁﬁenby ok W
(1) Engles (2) Trotsky
(3) Lenin (4) KarlMarx
o°R S"S?oénef @l HoFod ENoDSTE
(1) 208G (2) &ty
3) 8IS (4) =638,
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PART -1V : CIVICS

111. Who is known as father of the Political Science?

(1) Mnechiavelli (2) Lask
(3) Auristotle (4) Bodin
Tud TY 2E0TVE AS586?
(1) S5803039 (2) oy
(3) wdxBS (4) F°4&S
112. “Political Science begins and ends with State”.
(1) Green (2) Gettle
(3) Gamer (4) Leacock
‘28T X8 ©d JHdakn @050 Bolkd T2gedd .
(1) @& (2) dLS
(3) mT&s (4) Os°§

113. Plato’s ideal number fo{the size of the peoplé of a state
e PFdo wdl) Trag aIe QoSE Dootsoeed?
(1) 10000 (2) 5040 (3) 5000 (4) 10040

114. One of the following statement with regards of the state is correct.
(1) Society is prior to the state (2) State is prior to the society
(3) State and society originate together (4) Alltheabove
& Bod TS Toergd8 HoWOoBID ®oFINOS* A& JIBI6?
(1) oragdn 87 D320 S0
(2) Hdradn I Torgdd S0
(3) oreghn H$o008 JEFIFS0 Eod BAGDoTow

(4) 2 o)
115. The English word ‘Law’ originated from
(1) Lag (2) Log
(3) Led (4) Leg
‘o’ @l wolff HEBSNIL BrreH0
(1) eoh (2) &'
(3) 86 (4) 8K
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116. The concept of Administrative Law found in

(1) America (2) India
(3) France (4) Britain
DTl TgoHsn o dfost SR T)80?
(1) el (2) =mobosr
) @& (4) &S
117. The Greek word ‘Polic’ refer to
(1) State (2) City
(3) Politicus (4) City state
POV’ I (A% HBS50 3 2rDB06?
(1) oragdoo (2) &KSS2
B) 08385 (4) 388 oregdn
118. Identify the fe;tures of the rights.
(1) Universal (2) Ruleoflaw
-(3) Independent press (4) Coercive nature
TE© o) 80ow0s.
(1) EBEI036 (2) JJosgososon
(3) JgBoES H®E (4) 2oRPBrE s+
119. “Rights are those power claimed and recognised as contributory to the common good” -
(1) TH. Qreen (2) J.S.Mill
(3) R.G. Gettle (4) Gamer
“e8)f Foigss SErEHE T B0k 5080 KBoTosts Hod wbE TS e
(1) TH.6S 2) IS.2&
(3) RGR&S (4) &6
120. Justice means to help the friend and harm enemies. 1
(1) Caphlous (2) Aristotle
(3) Polymarchus (4) Bharkar
Doty Deo Bokdo, HSYOL T VaHEH TrgabHsw.
(1) -3doa (2) woyss
(3) JO5rG)® (4) =g 6 -
V.
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121. The membership in the society is
(1) Option (2) Temporary
(3) Compulsory (4) Pressure
Sdrzod” Jegdhn
(1) 298w (2) oo 80
(3) Q&yodo (4) =28
122. Which is the most important in Legislature?
(1) Legislative (2) Equity
(3) Customs (4) Religion
TS QTR INIK SopgRod DEgE SorererdSn
(1) =38 % (2) 508
(3) swrssn (4) So85%0
123. Give the example of Theocratic state. 7
(1) India (2) China
(3) Israel (4) Britain
EorgA8 ST Eeo
(1) =modcss (2) B~
(3) aEronds 4) ©&S
124. Aliens are not enjoyed this right
(1) Righttowork (2) Rightto vote
(3) Righttolive (4) Rightto education
DBIoS0OL & T8y, wod.
(1) INTD T¥y, (2) &n &5
(3) 2£dod Ty, (4) dog T80,
125. Who is the g:u:a:rdian of the constitution in Federal Government?
(1) Executive (2) Judiciory
(3) Legislative (4) Alltheabove
:‘623.:*:;35;55;’)"86‘ orergol DoCERY DSEK?
(N 5EgATCTE T (2) J°gA T
(3) =35 =» (4) 2 o))
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126.

] . . 2
Name the Government in which people have a share:

(1) Democracy (2) Monocracy
(3) Aristocracy (4) Polity
Bzoodsr TEsnd) Behdgo 28?

(1) @eardngSogdn (2) o=8%0
(3) HOI>eS (4) 208

127.

Indian constitution came into force

ST ErgoRSN JDPE BHens®s S od?

(1) 1949-11-26 (2) 1950-1-26
(3) 1949-1-26 (4) 1950-11-26

128.

The draft constitution had the folloWing numbers of Articles.
Or2rgoll 00T S0k AQ) ©BES) Janon?

129.

(1) 315 (2) 395
(3) 335 (4) 365
The Chairman of drélfting committee

(1) Dr.B.R.Ambedkar (2) Nehru
(3) Dr. Babu Rejendra Prasad (4) Patel
Soorone NS &S

(1) Dr.BRewodg6 (2) S
(3) @ wrew TEoE HFE (4) 38

130.

In which constitutional Amendment added the term ¢ Secular’ to the preamble?

2 TeErgol B8 TG0" TEgol [DRIES® ‘S 8E’ w3 o BEy0AI8?

(1) 44 (2) 43 3) 42 (4) 41

131.

Article 368 deals

(1)  Union Government (2) State Government

(3) Union State Government (4) Amendment procedure

3683 95680 2 wodo KBod BN E08?

(1) So @ S8 (2) o3 @253655533

(4) oargor 356w Ddoen
e TReste

(3) Bog TQ dowogren

—
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132. Union State relations forward from

(1) America (2) Britain
(3) Germany (4) Canada
B0l o°g Homogren DH,E 08 deEBodwToN?

(1) oos (2) ®&S
(3) =69 (4) 334

133. Which right described as ‘Heart and Soul’ of the constitution?

(1) Rightto equality (2) Right to constitutional remedies

(3) Righttovote (4) Right to freedom

D ¥ OergomrR8 ‘Grysasosn $r8asn 88’ S086 WPIPoTEH?
(1) 33885y T8 (2) orergon HOTHEY T8y,
(3) &in I8y, 4) '?oszﬁ‘) 8,

I34. Atpresent how many fundamental duties in Indian Constitution?
WEo orErgoro Sod Q) PEDE Doen Hayon?

(1 9 (2) 10
(3) u 4) 12
135. Who is the Supreme Commander of Defence Force of India?
(1) President (2) Vice-President
(3) Prime Minister (4) Defence Minister

TESBE VIABET O DECRTGHIE I5E?

(1) o338 (2) &3 ocgods
Q) ETS Jo® (4) 8 Soo®
136. What is the retirement age of President? )
(1) There is no age limit 2) 70
(3) 72 (4) 62
TPH8 HED Do SaHdy Jos?
(1) 3RB>H808 B&o (2) 70
3) 72 4 62
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137. Indian parliament Question hour commened .at 1
(1) 100’ clock 2) 110 clock
(3) 80’ clock (4) 9o’ clock
68 FEB0obn PTIK0H0 IR (@ EogsHB0B?
(1) +<.1040. (2) .115o.
(3) &.8Ko. (4) &.940.
138. Who is the Chairman of ‘NITI’ ayog? 1
(1) President (2) Prime Minister !
(3) Finance Minister (4) Vice President
‘D8’ OBrH wEgEE DSE? |
(1) ogse Q) BFS $o08
(3) ©gs Ho@ (4) &8 |
139. President mentioned how many members to the Rajya Sabha? ’ 14
TEDB TaghEs Jod H00b DEbgo JHIVE?
(1) 10 @ 11 |
3) 12 4) 13 1_
140. ‘Qurum’ of Lok Sabha ;!14
e5°Ede ‘§°80’
(1) 172 (2) 1/3
(3) 14 (4) 1/10 .
141. How many members in the Legislative Council? i A
WoGHBT TS JFS® Jghge dompg
(1) 175 2) 117
(3) 58 (4) 50
142. A money bill is introduced in first. 1
(1) Lok Sabha (2) RajyaSabha
(3) Either house of th‘j Parliament 4) Inajoint sitting of the both houses
eE Doy BELFOM o HPS* BSIFvEec?
(1) 63 @) ugses
(3) Dot dFoS' BISBa @) R

G0t Jefe doosng BIrddo

Merinc 70

P
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143. The Gap between two meetings of the Indian Parliament

(1) 3 months (2) 4 months
(3) 5 months (4) 6 months
88 FEotn Tody ISrdee Soggsoo
(1) 3Sovw (2) 43Jve
(3) 53Joew (4) 6 Jwen
144, Who is the first speaker of biforculated AP Legislative Assembly?
(1) KaleswaraRao (2) Manohar
(3) Venkataramayya Chowdary (4) K. Sivaprasada Rao
JOFoS WoPIVBT JrSdesBo ool 086
(1) s8%8 o (2) 56
(3) SodgrSochy o (4) K. 3508 oo

145. How many High Courts in India?
T E8RF0S* Q) TEGe0 HI)on?
(1) 19 2) 20
(3) 24 (4) 25

146. At present how many subjects contains in the Unijon list?
©¥o Solrdes® A) woTen Eo)?
(1) 97 (2) 98
(3) 99 (4) 100

147. In which year the Indian National Congress was formed?
88 27805 5o 2 Jodd)Bos® DO‘:)&)J IRJo VAN INAY,

(1) 1785 (2) 1885
(3) 1985 (4) 1988
148. Chairman of the 15 finance commission
(1) NK.Singh (2) Y.V.Reddy
(3) K.C.Pant (4) Vijay Kelkar
155 w8 Sodn wigddy
(1) N.K.%o0A (2) Y.V.B%
(3) K.C.%08 (4) duod so) 6
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i i tus at present
149. According to 370 Article which state enjoy 2 special sta P

ipura
(1) AndhraPradesh (2) Top )
(3) Jammu & Kashmir (4) None of the above

©80370 HESwo H5Eo J TEEIE
(1) eoE©ds 2) @38
(3) =dw) 58050 5°HE (4) 2D DI

@33§§ 2838 ée")‘)oééo 20h0d8.

150. The National Human Rights Commission was established on

8 SrSS T8y e Dododn & Hod& B0’ o™YEN Bohaadod.

(1) 1991-10-12 (2) 1992-10-12
(3) 1993-10-12 (4) 1994-10-12
0aoao
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